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Time: 2:30 hrs Marks: 75
Note: 1) All questions are compulsory.

2) Draw neat diagram wherever is necessary.

3) All questions carry equal marks.

Q.1 (A) Fill in the Blanks. C))
1) '_____m_____is one of the important factor for location of rural settlement.
Y e AT Administrative Town in India.
3y - - - 54 DOURGY between India and China.
4) is at the center of the rural settlement in Von Thune’s Model.
(B) Write True or False. 4)

1) Transportation cost is depending on the distance traveled.
2) Globalization has not affected on Indian Economy.

3) Concentric Zone model was introduced in 1980.

4) Frontier is a line separates the two countries.

(C) Solve the given problem of Nearest Neighbour Analysis and interpret the results.  (7)
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Q. 2 With the help of diagram explain in detail the Von Thunen’s Rural Landuse Model. ~ (15)

OR
Q.2 Explain in detail various building materials available for rural settlements. (15)
Q. 3 Explain the positive impacts of urbanization in detail. (15)
OR
.3 With suitable diagram explain Concentric Zone Mode! of urban settlements. (15)
Q. 4 Write in detail the classification of boundaries with examples. (15)
OR
Q. 4 Write a note on border disputes between India and neighbouring countries. (15)
Q 5 Discuss the problems associated with developing countries. (15)
OR

Q 5 Explain the impact of Globalization. (15)
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